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General Instructions :

(V)
(ii)

(i11)

(iv)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections —A,
B, C and D.

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains
10 questions of 4 marks each.

Use of calculators is not permitted.

Qs A
SECTION A

J97 G&IT1 G 8 Th J9% J97 1 3% 1 8 | J97 G&IT 18 8 H Icd%h ¥97 & o3¢ IR
fabeq 130 71 &, fo78 @ Fac7 v @&l 8 | @8t [dbe giv |

Question numbers 1 to 8 carry 1 mark each. For each of the question numbers

1to8,

Select

30/2/2

four alternative choices have been provided, of which only one is correct.
the correct choice.

Ife fopelt Feater @Y 6 HaE, YH W U T 35eh TRT H AGIE F A3 AT
7, A 39 99 I I 3T 3

(A 30°
(B) 60°
(C)  45°
(D)  75°



If the height of a vertical pole is V3 times the length of its shadow on the
ground, then the angle of elevation of the Sun at that time is

(A 30°
(B)  60°
(C) 45°
(D) 75°

2. TH I H B & O W1 25 T ohl TCAT 3ifhd & | I § & A1goad Th
TS fIehrett TR | 39 HIE W 3Afhd TEw & 2 91 3 o 9 fawifoa g1
YTRrehdT 2

(A) %

(B) 235
(©) %
™ 2

A bag contains cards numbered from 1 to 25. A card is drawn at random
from the bag. The probability that the number on this card is divisible by
both 2 and 3 is

@ <

®
(©) 2i5
(D) 235

30/2/2 3 P.T.O.
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T Ta-Nie el < v a1y oo W, FH-8-60 U o 91" 81 6l ITkeRdr
3

@
B) %
(©) 2
(D) %

Two different coins are tossed simultaneously. The probability of getting
at least one head is

(A) i
(B) é
(©) %
™ o

3 T g A Bt 5 ¥ o 3 4 1 W2 99 3@ e e, 9
3R 99 A o w A, (@ ) 2

A 4
(B)

C) 8
(D) 10

Two concentric circles are of radii 5 cm and 3 cm. Length of the chord of
the larger circle, (in cm), which touches the smaller circle is

A 4

B 5
C) 8
(D) 10



5.  3TRid 1 H, 91 o 90TT Tk =gysl ABCD 36 YR Tl a1 3 fob $Heh! o
AB, BC, CD @1 AD, 9 &l sa3: P, Q, R 991 S W W il & | Il
AB=x 3, BC =7 ¥1ft, CR = 3 Ot 92m AS = 5 9t &, a1 x I 94 &

D

R
C
S
Q
A P B
STHIT 1
A) 10
B) 9
C) 8
D) 7

In Figure 1, a quadrilateral ABCD is drawn to circumscribe a circle such
that its sides AB, BC, CD and AD touch the circle at P, Q, R and S
respectively. If AB = x cm, BC =7 cm, CR = 3 cm and AS = 5 cm, find x.

D R
C
S
Q
A P B
Figure 1
(A) 10
B 9
(9]
(D)
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Y g3t (0, 4), (0, 0) T (3, 0) It By 1 aftATT 2

A 7++5
B) 5

©) 10

(D) 12

The perimeter of a triangle with vertices (0, 4), (0, 0) and (3, 0) is

A 7+45
B) 5

©) 10

D) 12

40 THY x 22 GHY hT Th STRAIHR TS hl I I WS H 40 I S5 A
Teh @GS S SHR T | oo 6t Brean (S °) 3

(A) 35
B) 7
80
(®) -
(D) 5

A rectangular sheet of paper 40 cm x 22 cm, is rolled to form a hollow
cylinder of height 40 cm. The radius of the cylinder (in cm) is

A 35
B 7
80
() 3
(D) 5



8.  THIR UL 7,28, /63, ... 1 T U &

(A 70
(B) 84
©) V97
(D) 112

The next term of the A.P. /7,28,63, ... is

A) 70
(B) 84
©) 97
(D) 112

Qus d
SECTION B

JoT GEIT9 G 14 % JIH JoH7 F 2 3F & |

Question numbers 9 to 14 carry 2 marks each.

9. IR 2 H, XP A XQ, %5 O a1 I W T M@ folg X ¥ @i 718 3§ &=
@t € | ARB I I U 3 T {@1 § S 99 K R W T A 2 | g
1T f6 XA + AR = XB + BR.

30/2/2 7 P.T.O.



In Figure 2, XP and XQ are two tangents to the circle with centre O,
drawn from an external point X. ARB is another tangent, touching the
circle at R. Prove that XA + AR = XB + BR.

Figure 2

10. Tag FIT fop 9o & forelt =me o R W i 78 w991 @ gwial gt g |

Prove that the tangents drawn at the ends of any diameter of a circle are
parallel.

11. 2 T a6 U 91 39T T | S 9TEl W OIW 3TeRT Bl INTHA 10
HEE IR IPESINIGEEAS I

Two different dice are rolled simultaneously. Find the probability that
the sum of numbers appearing on the two dice is 10.

12. 3Tpfd 3 H, OABC UH Jd & aqaiw 7, fSwh fsm 7 &ft 3 | =i
OD = 4 3ft %, T BTIfHRA &7 1 &e T HINT | [x= 22 <A

7
A
T T \\\\\]é
D
\\J\J
\\\\\\\J\
0 —C
STTFHIT 3

30/2/2 8



In Figure 3, OABC is a quadrant of a circle of radius 7 cm. If OD = 4 cm,
find the area of the shaded region. [Use & = %]

Arrrre
T T \\\\\B
D
\\J\ J
\\\\\\J\
o) C
Figure 3

13. x % U ga hifSu
V3x2-2J2x-243 =0
Solve for x :

V3x2-242x-2J3 =0

14. TS U A & J°W n UG T AMHA 5n — n? 2 | 39 THIGR I I ndl 9g
T4 ShIferT, |

The sum of the first n terms of an A.P. is 5n — n2 Find the nth term of this
A.P.

30/2/2 9 P.T.O.
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SECTION C

9T &I 15 & 24 T JAF To7 & 3 375 & |
Question numbers 15 to 24 carry 3 marks each.

15.

16.

30/2/2

fag P, Q, Ra S, fagati A1, 2) @ B(6, 7) ! WA a1 1@V i 9=
A T # o e @ | faegati P, Q @ R % ek F1d shifT |
Points P, Q, R and S divide the line segment joining the points A(1, 2)

and B(6, 7) in 5 equal parts. Find the coordinates of the points P, Q
and R.

(T 4 T, Th AR & ABCD, 5w AB = 20 Tfl 2, & T R @ @&
THehv F1YS AED %11 1 8, S8l AE = 9 € 991 DE = 12 8t § | g f&
BC &l T8 TRt STet shl 3T Teh eI ST T 7 | SIhd & 1 &T%ha
FTd I | [ = 3-14 <)

A B

i

ST 4
In Figure 4, from a rectangular region ABCD with AB = 20 cm, a right
triangle AED with AE = 9 cm and DE = 12 cm, is cut off. On the other
end, taking BC as diameter, a semicircle is added on outside the region.
Find the area of the shaded region. [Use © = 3-14]

A B

i

Figure 4

10



17. 3THfd 5 H, ABDC, 28 @ 5531 a1ei U g9 &1 IqA¥ & a1 BC &l =6
AR Th Adgd BEC @iET M1 & | BEIfhd HET &1 &9%a 1A hig |

In Figure 5, ABDC is a quadrant of a circle of radius 28 cm and a semi
circle BEC is drawn with BC as diameter. Find the area of the shaded

region. [Use n = %]

Figure 5

18. U YR 32, fSHeh 3MUR 1 =Id 14 1t 991 =18 24 Mt B, & o4 H 5 H
IS T HUST AR TR | T 25 i el it @ B, HUST AN H I [T
HIT | [n:g?*ﬁﬁﬂ'{]

7
A 5 m wide cloth is used to make a conical tent of base diameter 14 m and

height 24 m. Find the cost of cloth used at the rate of ¥ 25 per metre.

22

[Usen=7]
19. U oiseh! W & W, 18 T} 3mem G qen 32 oift =g drell, Teh SR
TTedl ! B W Gt Thieh Tsh AR @O sl 8 | I 38 Wbl &l ohi

TS 24 THY B 1 3Heh! foiSl ST Mo o Teh T doh JTd <hITT |

A girl empties a cylindrical bucket, full of sand, of base radius 18 cm and
height 32 cm, on the floor to form a conical heap of sand. If the height of
this conical heap is 24 cm, then find its slant height correct upto one
place of decimal.

30/2/2 11 P.T.O.



20.

21.

22.

23.

24.

30/2/2

Th THTA It o YW 7 Y&l bl ANTHA 638 dAT 3T 7 Yl hl I 161
2 | 39 9HIa) A &1 2841 Ue [ i |

The sum of the first 7 terms of an A.P. is 63 and the sum of its next
7 terms is 161. Find the 28 term of this A.P.

T T TR Tsh Y1y i AR foqda foamedi @ on @ 3 | ywm-wy &+
et 8 37 SEl % FETHT HI0 30° qAT 45° 7 | Al S+ " B gl
100t 81, dF ThNI-EAH T SHaTs [ FINT | [J3 = 1.732 R

Two ships are approaching a light-house from opposite directions. The

angles of depression of the two ships from the top of the light-house are
30° and 45°. If the distance between the two ships is 100 m, find the
height of the light-house. [Use +/3 = 1-732]

Ife fgama oot 3x% + px — 8 = 0 &1 T [ 2 7, a fguma wfiet
4x%— 2px + k = 0 T THM &, A k &1 M F1d HIT |

If 2 is a root of the quadratic equation 3x% + px — 8 = 0 and the quadratic
equation 4x2 — 2px + k = 0 has equal roots, find the value of k.

Th B PQR & w1 v, ed PQ = 6 @, QR = 7 @i qen
PR = 8 9t g | TR wh 31 fayqa i a1 e et g A PQR
e et g T |

Construct a triangle PQR, in which PQ = 6 cm, QR = 7 cm and PR = 8 cm.
Then construct another triangle whose sides are % times the

corresponding sides of A PQR.

p % 98 AW Fd hive T fw fag (p + 1, 2p - 2), (p — 1, p) @A
(p—3,2p—6)TE & |
Find the value(s) of p for which the points (p + 1, 2p — 2), (p — 1, p) and
(p — 3, 2p — 6) are collinear.

12
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SECTION D

J97 G&IT 25 G 34 T b G971 & 4 3F & |

Question numbers 25 to 34 carry 4 marks each.

25. fagatl A(-10, 4) do1 B(-2, 0) H A Tt W@ i wed-foeg P, femgati
C(-9, —4) AT D(—4, y) ! i ot T@ravs W ¥ 8 | 98 31U
g S fog P {@m@ve CD i diedl 8 | y &1 7 41 J1d T |

The mid-point P of the line segment joining the points A(-10, 4) and

B(-2, 0) lies on the line segment joining the points C(-9, —4) and D(-4, y).
Find the ratio in which P divides CD. Also find the value of y.

26. TH gd % UG T 9gys @ien T 7 | fag Hive Tk aqds &
STl o I M 7 |
A quadrilateral is drawn to circumscribe a circle. Prove that the sums of
opposite sides are equal.

27. UTHh a0l & RReR 1 T AR & 91 & IF=F S0 60° 3 9T HAR & I o
femft & uTg &1 31EEE ®Iur 30° 8 | Af HAR f =g 40 H 7, @ Fowed B
o Fa AT | I AT9EUEl % SHER gt Bred arelt fomdt B S
FHH-Y-HA 100 H B =MfEC | Sd3g foh IuUh fomll i =1 Uguu Aveue
%I G0 HLAT & AT TG | 39 TR H TRE o I g TR 2

The angle of elevation of the top of a chimney from the foot of a tower is

60° and the angle of depression of the foot of the chimney from the top of
the tower is 30°. If the height of the tower is 40 m, find the height of the
chimney. According to pollution control norms, the minimum height of a
smoke emitting chimney should be 100 m. State if the height of the
above mentioned chimney meets the pollution norms. What value is
discussed in this question ?

30/2/2 13 P.T.O.



28.

29.

30.

31.

32.

30/2/2

ol 7 Tft At Tk TATHR ScAfeh o Teh Belsh bl 37T hl 3T A HIE . Th
JTMATRR TEET T ThR ST 7T & Toh STLTITT T U™ o o Teh foh <k
FUG 8 | Y &< 3 T I &% 14 T | [r = %Fﬁﬁlﬁ]

A hemispherical depression is cut out from one face of a cubical block of

side 7 cm, such that the diameter of the hemisphere is equal to the edge

of the cube. Find the surface area of the remaining solid. [Use © = %]

Ifg forel T@TR 9 % YUYW n UG w1 AMHA S, 7, @ fag i R
S30 = 3 (Sgp —S10)-

If S, denotes the sum of the first n terms of an A.P., prove that
S30 = 3 (Sgp — S19)-

24 Tt 3418 1 FW A Gell 91 hHl Th dTeel, Th AP o (GdAh o RN hl
7 e free qon Sadt gt R 6 Boamd shaen: 7 oft qen 14 @i B | S
SHifTT

(i)  STed! I QU WA 9Tl I 61 AA |

(i) STt Sl S H @it o1 I AT H HTH |

[n=%5ﬂf_ﬂ]

A metallic bucket, open at the top, of height 24 cm is in the form of the
frustum of a cone, the radii of whose lower and upper circular ends are
7 cm and 14 cm respectively. Find :

) the volume of water which can completely fill the bucket.
(11) the area of the metal sheet used to make the bucket.

[Use t = %]
7

2 SHATT TH HEIAT3T o 71 bl ANTHA 340 3 | HEATE 14 hifY |

The sum of the squares of two consecutive even numbers is 340. Find the
numbers.

fag A foh ga & foreht forg W waet Y, Tt forg & 99 et o e ofw
Bt 7 |

Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact.

14



33. U UTH i 2 SN Hehl AT & | ATRrehdT 31 shifoe fop
G) 5 fordEl 9w oft 7 31T |
(i) 5 hadl Ush gX AT |

A dice is rolled twice. Find the probability that
1) 5 will not come up either time.
(i1)) 5 will come up exactly one time.

34. x U g7 hifVIQ :

3 3x -1 9 2x + 3 _5: x¢l, _§.
2x + 3 3x -1 3 2

Solve for x :

3 3x -1 9 2x + 3 _5: x¢l, _§.
2x + 3 3x -1 3 2

30/2/2 15



